. VCE & PDF https://www.pass4itsure.com/1z0-204.html
g 2024 Latest passditsure 120-204 PDF and VCE dumps Download

PassditSure.com

170-204°%As

Oracle EBS R12: E-Business Essentials

Pass Oracle 1Z0-204 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-204.html|

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-204 PDF Dumps | 1Z0-204 VCE Dumps | 1Z0-204 Exam Questions 1/6


https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html

VCE & PDF https://www.pass4itsure.com/1z0-204.html
a 2024 Latest passditsure 120-204 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Identify two business benefits of using Multi-Org Access Control. (Choose two.)
A. easier assignment of security rules

B. reporting across Operating Units using single responsibility

C. inquiry-only access to data across different Operating Units

D. transaction entry across Operating Units using one responsibility

E. transaction entry across Operating Units using multiple responsibilities

Correct Answer: CD

QUESTION 2

You receive a request to create a new menu. Instead of creating a new menu, you modify an existing menu and save it
to a different User Menu Name. What happens after saving the menu with a different User Menu Name?

A. There will be two menus.

B. The original menu is disabled.

C. The new menu will not contain any functions.
D. The new menu will overwrite the original menu.

Correct Answer: D

QUESTION 3

Identify two correct statements regarding Function Security. (Choose two.)
A. defines access controls through roles

B. is built on the role-based access control layer

C. is the base layer of access control in Oracle Applications

D. restricts user access to individual menus and menu options

E. restricts user access to data within menus and menu options

Correct Answer: CD

QUESTION 4
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Identify the correct sequence of Oracle E-Business Suite Release 12 Security Layers from bottom to top.
A. Function Security, Data Security, and Role-Based Access Control
B. Role-Based Access Control, Data Security, and Function Security
C. Data Security, Function Security, and Role-Based Access Control
D. Function Security, Role-Based Access Control, and Data Security

Correct Answer: A

QUESTION 5

You are the project manager with access to the Oracle Project Management application in Oracle E-Business Suite
Release 12. You have granted User X access to your worklist. User X now logs in to Oracle E-Business Suite Release
12 and accesses his or her worklist by clicking the Workflow Notifications link. Identify three actions User X can perform.
(Choose three.)

A. Create vacation rules for you.

B. Approve projects on your behalf.

C. Grant access to your worklist to another user.

D. View the username of the worklist owner in the worklist.

E. Access your worklist automatically without performing any action.

F. Access your worklist by clicking the "Switch User" button, and then selecting your name.

Correct Answer:. BDF

QUESTION 6

Which two options would you use to restrict the functionality provided by a responsibility? (Choose two.)
A. creating an appropriate role

B. creating an appropriate group

C. constructing a new menu hierarchy

D. defining rules to exclude specific functions

Correct Answer: CD

QUESTION 7

Select three true statements about Business Event System in Oracle Workflow. (Choose three.)
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A. resides in Oracle Database

B. resides in Oracle Application Server

C. can be used with Workflow Engine to integrate external systems

D. consists of Event Manager, which lets you register workflow processes
E. uses Advanced Queuing to send messages from one system to another

Correct Answer: ACE

QUESTION 8

Identify four products in the Oracle Applications Technology Layer. (Choose four.)
A. Oracle Tutor (TU)

B. Oracle Workflow (WF)

C. Oracle Applications DBA (AD)

D. Oracle Application Utilities (AU)

E. Oracle Applications Framework (FWK)

F. Oracle Daily Business Intelligence (DBI)

Correct Answer. BCDE

QUESTION 9

In Oracle E-Business Suite Release 12, at which level can you exclude a function from a responsibility?
A. menu, submenu, or function

B. menu and submenu, but not function

C. menu and function, but not submenu

D. function and submenu, but not menu

Correct Answer: A

QUESTION 10

ABC Corp. has a requirement to share business documents from its Oracle E-Business Suite Releasel2 (EBS) instance
with external business-to-business (B2B) exchange partners. Select the best method that you would recommend to
meet this requirement.

A. Build a workflow process and integrate it with external B2B exchange.
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B. Use notification mailer to share the documents with external B2B exchange.

C. Use Oracle Applications Framework to integrate with external B2B exchange.

D. Use the Advanced Workflow Mailer functionality in Oracle E-Business Suite Release 12.

E. Build a workflow process and use Business Event System to integrate it with an external B2B exchange partner.

Correct Answer: E

QUESTION 11

A company wants to secure its employee information by three regions: EMEA, AMERICAS, and APAC. This would
entail the creation of three

A. Legal Entities

B. Operating Units

C. Business Groups

D. HR Organizations

E. Inventory Organizations

Correct Answer: C

QUESTION 12

Data Security Policies restrict the actions or operations that can be performed on a specific business object (for
example, Inventory Items). Which three Data Security Policies can restrict access? (Choose three.)

A. all Instances

B. an instance Set

C. a Data Group Set

D. a specific Instance

E. a specific Data Group

Correct Answer: ABD

QUESTION 13

Select four tasks that you can perform from the Self-Service home page of Oracle Workflow embedded in Oracle E-
Business Suite Release 12. (Choose four.)

A. View "FYI Notifications."
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B. Purge Closed natifications.

C. View "Notifications From Me."

D. View participant responses for a completed workflow.

E. Access status diagram of workflows that are in any status.

F. Access status diagram of workflows that are with status "Processed" or "Errored."

Correct Answer: ACDE

QUESTION 14

Which three statements are true about Oracle Workflow and Oracle Alerts? (Choose three.)
A. Alerts can perform only one action.

B. Workflow can support complex conditional logic.

C. Alerts can be configured for any frequency of occurrence.

D. Workflows can wait for a user response during an activity.

E. Alerts can perform multiple actions in a sequence that you specify.

F. Alerts run only when a database record is either updated or created.

Correct Answer: BDE

QUESTION 15

ABC Corporation imports invoices from Suppliers through the Oracle Payables Open Interface tables. It wants to
capture the Supplier Reference number on the Invoice Descriptive Flexfield and wants to review the Reference number
on the interface form before importing invoices into Oracle Payables. Identify the two DFFs that you would implement
and the Attribute you would use to capture the Supplier Reference number. (Choose two.)

A. Invoice DFF with Attributel

B. Invoice DFF with Attribute2

C. Invoice Lines DFF with Attributel

D. Invoice Distribution DFF with Attibute3

E. Invoice Gateway Header DFF with Attribute2

Correct Answer: BE

170-204 PDF Dumps 170-204 VCE Dumps 170-204 Exam Questions

170-204 PDF Dumps | 120-204 VCE Dumps | 1Z20-204 Exam Questions 6/6


https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html
https://www.pass4itsure.com/1z0-204.html

